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Figure 12: The effect on classification performance of iterating the propagation.
Each scatter plot compares the ROC50 results of the PSI-BLAST and RankProp after n
iterations of the RankProp algorithm, using σ = 100. On the first iteration, the two sets
of results are the same, because the propagation has not yet begun. The largest change
occurs after one iteration of RankProp. The relatively small change between iterations 18
and 19 indicates that the algorithm is close to convergence. An animation of these plots
can be found on the authors’ web page.
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